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1 Introduction
In last RAN4 #91 meeting, initial coexistence simulation assumptions were discussed and WF on Coexistence scenarios was approved [1]. As a results, RAN4 discussed detailed simulation assumption by email until 20th, July [2].
In this contribution, we provide our initial coexistence simulation results of NR V2X coexistence for ITS band based on email discussed simulation assumptions [2].
2 Discussion 
The coexistence simulation scenario of 5G V2X for ITS band are as shown in the following table. All detailed simulation assumptions are based on simulation assumption which is discussed through e-mail until 20th, July [1].
Table 1. NR V2X service coexistence scenarios in adjacent channel
	5G V2X operating frequency
	Deployment scenarios

(Aggressor-to-Victim)

	FR1
	V2X service at ITS spectrum

(sidelink: 5.9GHz)
	· Case1: NR V2X UE-to-DSRC UE
· Case2: DSRC UE-to-NR V2X UE

· Case3: NR V2X UE-to-LTE V2X UE

· Case4: LTE V2X UE-to-NR V2X UE


For ACIR model, we followed option 1, because I think that existing NR UE RF requirements also based on single step ACIR model. For DSRC UE, there exist three candidate of ACS level of 22/25/29 dB and we used 22 dB as ACS value of DSRC. For NR, we used existing NR UE ACLR and ACS base for these simulation since we believe that NR V2X will use similar RF technology compared to NR UE. Based on these, actual used ACIR value which is combined with ACLR and ACS are as follows;

· ACIRCASE1 = 21.36 dB

· ACIRCASE2 = 21.88 dB

· ACIRCASE3 = 25.24 dB
· ACIRCASE4 = 23.03 dB
In Figure 1 ~ 4, we present our simulation results for Case 1, Case 2, Case 3, and Case 4, respectively.
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Figure 1. Coexistence simulation results of Case 1 for 15km/h and 60km/h
(w/ 190 bytes and 300 bytes payload)
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Figure 2. Coexistence simulation results of Case 2 for 15km/h and 60km/h (w/ 1100 bytes payload)
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Figure 3. Coexistence simulation results of Case 3 for 15km/h and 60km/h
(w/ 190 bytes and 300 bytes payload)
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Figure 4. Coexistence simulation results of Case 4 for 15km/h and 60km/h (w/ 1100 bytes payload)
From all simulation results, we can observe there is no significant impact in terms of PRR performance when NR V2X system is deployed on adjacent channel.
Observation: No significant impact in terms of PRR performance are shown for Case 1, Case2, Case 3, and Case 3.

Also in Table 2, we present PRR loss for ITE band coexistence scenario for given summarized numeric PRR loss
Table 2. Summary of PRR loss for ITS band coexistence scenario

	Scenario
	Payload (byte)
	50m range for 15km/h
	150m range for 60km/h

	Case 1
	190
	0.58 %
	1.53 %

	
	300
	0.86 %
	1.82 %

	Case 2
	1100
	0.56 %
	1.41 %

	Case 3
	190
	0.10 %
	0.11 %

	
	300
	0.10 %
	0.93 %

	Case 4
	1100
	0.63 %
	0.47 %


Although some simulation assumption including SINR-PRR mapping table need to be updated, we think that similar conclusion will be expected considering coexistence impact is based on relative performance degradation due to adjacent channel interference from aggressor system. 
3 Conclusion
In this paper, we provide our initial coexistence simulation results of NR V2X coexistence for ITS band. Based on our simulation results, our observation is
Observation: No significant impact in terms of PRR performance are shown for Case 1, Case2, Case 3, and Case 3.
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